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                                                   Pythagoras Theorem & Trigonometry -1  

Q 1: A triangle with sides 8 cm , 23 cm and 25 cm a right angled triangle? Give reason for 

your answer. 

Q 2:  A ladder 6 m long is leaning against a wall . The foot of ladder is 2m from the wall. 

How far up the will ladder reach? 

Q3:  A ladder 6 m long leaning against the wall. The foot of the ladder is 3 m from the wall. 

The foot of the ladder is not securely held and slips away further 40 cm away from the wall. 

How far does the top of the ladder move down the wall? 

Q4 :  Calculate the length marked   

 

 

 

 

 

 

Q5:  If tan                       . Find the value of                                                                                   

 

 

Q7:  If tan 450 = 1 . Then use this fact to find the value of cos 450 in square root form. 

Q8:  Work out the values of  

 

a)  


